Money and Monetary Policy
Midterm Exam – 2007

1    a.
The cells in the table represent the annualized growth rate of M2 starting from the average of the level of M2 in the four weeks ending with the column entry and ending with the average of the level of M2 in the four weeks ending with the row entry.  The 7.1% growth is, thus, the annualized change in M2 from the average level for the four weeks ending 8/20/07 to the average level for the four weeks ending 10/15/07.

b. I would put a title of “Annualized Growth Rate for M2” at the top of the chart and “the average level of M2 for the four weeks ending:” on each axis.

c. M2 provides information on an aggregate level of liquidity in the economy.  Of all the available Ms, M2 bears a close (long term) relationship with nominal GDP; thus, persistently high M2 growth would suggest persistently high nominal GDP growth.  Based on the quantity theory of money, one would predict future inflation.  Changes in monetary policy directly impact M0 and are a small component of M2.  Given the variety of money holding behaviors that are reflected in the components of M2, it is quite difficult to isolate monetary policy changes.
2.


	 
	Now
	I year out
	2 years out
	3 years out
	PV at 5%
	Yield to Maturity

	A
	-500
	0
	0
	600
	18.3
	0.063

	B
	-500
	160
	200
	200
	6.6
	0.057

	C
	-500
	240
	300
	0
	0.7
	0.051

	 
	 
	 
	 
	 
	 
	 

	Weights
	1
	2
	3
	Discounted Sum
	PV of Benefits
	Duration

	Numerator for
	0
	0
	1800
	1554.9
	518.3
	3.00

	Duration
	160
	400
	600
	1033.5
	506.6
	2.04

	 
	240
	600
	0
	772.8
	500.7
	1.54


a. Based on yield to maturity, project A has the highest return (6.3%).
b. The calculated durations are 3.00, 2.04, and 1.54 for A, B, and C respectively.
c. Use present discounted value (at 5%) to rank the projects.  The resulting values are 18.3, 6.6, and 0.7 for A, B, and C respectively; thus, the priority order would be first A, then B, and then C.

d. If an investor expects the interest rate to rise, then he or she should reduce the duration of selected investments.  In the example, a move to B or even C might be in order depending upon the magnitude of the expected increase.

Part II.

1a.
Valderrama argues “that well-developed financial markets and institutions can generate growth by increasing the pool of funds and reducing the risk and by enhancing the productivity of fund transfers from savers to investment projects.”  Well developed markets can provide the resources to analyze risk and monitor resource use to ensure efficient use of saver’s resources.

b. Initially, financial markets can help fund physical capital accumulation.  After a certain point, however, the marginal return on such investments falls and with it the rate of growth of the economy.  New growth theory emphasizes the non-diminishing returns to technology investments in terms of productivity improvement which can yield sustained economic growth.   As a result of these arguments, the author argues that the second source is more important than the first one.
2a.
TIPS are U.S. government debt obligations that pay a fixed rate of interest but the principal is adjusted automatically to compensate for changes in the Consumer Price Index.  

b. The difference between the market interest rate on a TIP of a given maturity and a non-TIP debt obligation of the same maturity provides one market measure of expected inflation.

c. The difference noted in b does not just reflect expected inflation.  It includes a premium for inflation that deviates from expected inflation.  TIPs also include a liquidity premium since the market for TIPs is less fully developed than the market for non-indexed securities of the same maturity.
3a.
Stock market volatility is typically measured by the standard deviation of daily returns.  Different measures exist for each market (e.g., S&P 500, NASDAQ, and Dow Jones Industrial Average.)


b.
Excess volatility refers to deviation in returns that is unrelated to deviations in underlying fundamentals such as dividend rates and discount rates.  Volatility that cannot be accounted for by changes in the key fundamental economic variables that should drive present discounted value have been characterized as representative of an inefficient market.


c.
The author notes that “since 1962, there has been a steady decline in stock market volatility attributed to the overall market factor.”  This can be interpreted to mean that the risk premium for the overall market should be lower, thus, market prices should be higher and rates of return should be reduced.  For individual stocks, however, the volatility has increased; thus, investors most hold more (unrelated) assets in their portfolios to achieve the desired level of diversification.
Part III.

1
a.
Purchasing Power Parity exchange rates reflect the relative price differences between different countries in such a way that at PPP exchange rates, purchasers would be indifferent regarding which country they would purchase from.  In short, PPP rates reflect the Law of One Price.


b.
Market exchange rates may differ from PPP rates for a variety of reasons including differences in the quality of goods, transportation costs, barriers to trade, non-traded goods, different preferences for domestic vs. foreign goods, and different preferences for domestic vs. foreign currencies.


c.
We should expect US and Canadian rates to more closely parallel PPP than US and European rates since there are few barriers to trade (NAFTA), minimal transportation costs, and probably somewhat similar preferences.

2.
a.
Interest rate parity exists when i(domestic) = i (foreign) – (Et+1(e) – et)/ et
where the expectations term relates to current expectations regarding the exchange rate one period in the future.
b.
The R$ curve shifts to the right and the value of the $ rises in terms of yen.
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c.
An increase in Japanese productivity implies an increase in the rate of return on investments in Japan; thus, the Ryen curve shift down, and the $ would fall in terms of yen.
3.
a.
The term structure of interest rates reflects a plot of the interest rate for securities with different maturity dates.  This relationship is called the “yield curve.”
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c. One can explain the standard curve by noting that either interest rates are expected to rise or that one must offer a risk premium to induce investors to hold long term maturities.

d. An “inverted” curve means that short term interest rates are higher than long term rates.  Historically, it has tended to mean that credit is relatively tight in the near term and that a recession has a reasonably high probability.

e. Expansion of the market for U.S. Treasuries at all maturities essentially says that no liquidity premium is necessary as one can buy or sell them without having to worry about finding someone to contract with.  The result would be both lower interest rates and a flatter yield curve. 

